

Discussion 7.7

⑮ Find y' if $y = 2\sqrt{t} \tanh \sqrt{t}$

$$y' = (\cancel{2\sqrt{t}}) (\operatorname{sech}^2 \sqrt{t}) \left(\frac{1}{\cancel{2\sqrt{t}}} \right) + (\tanh \sqrt{t}) \left(2 \frac{1}{\cancel{2\sqrt{t}}} \right)$$

$$= \operatorname{sech}^2 \sqrt{t} + \frac{1}{\sqrt{t}} \tanh \sqrt{t}$$

⑤④ Evaluate

$$\int_0^{\ln 2} 4 e^{-\theta} \sinh \theta \, d\theta$$

$$= \int_0^{\ln 2} 4 e^{-\theta} \left(\frac{e^{\theta} - e^{-\theta}}{2} \right) d\theta$$

$$= 2 \int_0^{\ln 2} (1 - e^{-2\theta}) d\theta$$

$$= 2 \left(\theta + \frac{1}{2} e^{-2\theta} \right) \Big|_0^{\ln 2} = \left(2\theta + e^{-2\theta} \right) \Big|_0^{\ln 2}$$

$$= \left(2 \ln 2 + e^{-2 \ln 2} \right) - \left(0 + e^0 \right)$$

$$= \ln 4 + e^{\ln 2^{-2}} - 1$$

$$= \ln 4 + \frac{1}{2} - 1$$

$$= \ln 4 + \frac{1}{4} - 1 = \ln 4 - \frac{3}{4}$$